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JlEZl 31,612 37,256 A5,644
Jl2Zl 31,612 37,256 A5,644
201 Let2dE] 20,452 20,096 356
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AN HAEnsSH
M. MSAHH (AL nsEN
el Jl23dl 9 )
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
01 AFR2 22l Yl 19,792 19,236 556
oulExrs= 700,000& x4 2 J| 2,800
OEAEX 22,900 202 A x 128 5,496
OsAI| Xtz 770,000& = 12& 9,240
OMEESHI 1,500
O&zI gz 63,000& x12& 756
02 =329l 660 860 A 200
OCIHYZ2XHAIXN Ol82= 40,000& =12 480
OFEE GPS 2 =NE SSHRB
15,0003 x12& 180
202 (4] 6,000 12,000 A 6,000
01 2L Y| 6,000 12,000 A 6,000
EMEY UL 20,000& x25H = 12& 6,000
203 ¥R =&H| 5,160 5,160 0
04 ENSIIERFA 5,160 5,160 0
ORAE2E g2 430,000& x12& 5,160
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